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Aula 10: Exercicios de fungoes
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Exercicios

[7,5]

Resposta:|7,5] =?
|__77 5J
Resposta:|—7,5| =?
| —18]
Resposta:| —18] =7

[7,5]

Resposta:[7,5] =7
|7777 5‘|
Resposta:[—7,5] =?

[—18]

Resposta:[—18] =7

]

Resposta:|7| =7

[7]

Resposta:[7| =7
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25 (mod 7);
25 (mod 5);
35 (mod 11);
—3 (mod 8);

Resposta:
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25 (mod 7) =7;

25 (mod 5) =7;
—35 (mod 11) =7;
—3 (mod 8) =7;

10 (mod 3) =7;
200 (mod 20) =7;
5 (mod 12) =7;

29 (mod 6) =7;
—347 (mod 6) =7;
—555 (mod 11) =7;
—201 (mod 16) = 7.

10 (mod 3); i) —347 (mod 6);

-
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200 (mod 20);
j) —555 (mod 11);
5 (mod 12);

29 (mod 6); k) —201 (mod 16).

10



COMO06851 - Matemética Discreta

Aula 10: Exercicios de fungoes

6.10. Simplifique:

nt ¢) 3!+ 4l

Resposta:

n!
W o=t

(n+2)!
n!

:?'

*

b)

c) 31+4!=7;

d) 31(3! +21) =7;

1001 — 99!
98! o
| — |

f) 211 — 22! _9

20!
6.11. Avalie:

e)

a) log, 8;
b) log, 64;

c) log;q 100;
d) log,,0,001;
) [log, 0, 1;
) [logs0,01;

e

f

Resposta:

a) logy, 8 =

b) log, 64 =7;

c) log;, 100 =7;

d) log;, 0,001 =7;

[log, 0,1] =7;

|logs 0,01] =7;
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logg 71
logg, 71
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logg x

logy,

1
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log¢ 2?

; d) 31(3! + 21);

100! — 99!
981

211 — 22!
200

e)

f)

logg 71
logg, 71’

logg x )

logy, x’

log,

logy 2%
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